Armstrong Green Ringer
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The transitor marked "*" has no markings other than three strpes; green, blue, white, from top to bottorm.
It1s PEOBAELY alow gamn MNP nsed as a dual diode with the snodes comnected together at the base

of the final transistor. The continoity test on the device shows no conductvty except that the topoo st pin
conducts when 1t 15 posiove of the pins i the rmoddle and other side; otherwase, no conducton. This 15 what
[ would expect if 1t were an NP with the same pinout (base, collector, ematter) as the other transistors



